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Modifications of generic pfp algorithm .
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Application 8.2 in Ahuja
-

Network reliability testing

Goat test each
edge ij of G- IN , E )
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times for seven hclijlije El
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the tests in a minimum # of days

Remark : a test of ij can be
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i or j



Given G - CN
,
E ) form network

N = ( N , U NaoHitt ,

A
,

LEO
,
u ) when

N
,
-

- N
,
Nz -- Lij Ii je El

N
,
Goo Nn

i
• ij

→
so÷÷¥÷÷÷.jk

Find ( via binary search)
the minimum

integer t such
that all arcs into

t

are filled by an flow (which is

then a maximum flow )



1--42,48 .
.
2k

,

htt '

- -
-
- - e e -

- -

now find but d via binary search

in Eakin
")


